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FiII in the blank:
L0 ,20 ,30,40, 50, ,10

62
-20

Write the

6+4=10
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24
+53

e How long is this arrs'r?

ttt11 L2 L3
ttttttttl123456789 I

10

@ Cop4g the sentence that is wrong.

6+4=L7
100

@ adime=_t

nr.unber before 5.

DAY

c 7 +6= 76
-4

= Dennles

fE) 9 7 =2\-/

@ How rm.rch is 8 tens?

@ Copy the wrong sentence.

5+L=7
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5+3=8

@ writ" the number after 6.

6 oru, a circle.

% @ wf.i"li'coin has" ten centS-1" ='*==L' ::-j

@
@
o

6 + 4 _ 10 @ vUri"h letter is third? A,B,C,D,E,F,G

How much is 9 tens and one L? O aorr*lete this pattern:

copv the correct sentence' *O n _O n4+2=6 4+3=8
DAY 102


